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Instructions

e This test has three parts, Section A Multiple Choice Question (MCQ), Section B Constructed
Response Question (CRQ) and Section C Extended Response Questions (ERQs)

Each Multiple-Choice Question (MCQ) is of 2 Marks. Maximum marks of each Constructed Response
Question (CRQ) are given across each question.
The test is of two hours duration.

You can use the last page/s for rough work.

Each MCQ has four options, A, B, C and D. Select ONE option as the best answer and fill in the circle
of that option, following the instructions given by the invigilator.
Use Black pen/pencil to fill in the circle.

Write the answer to each Constructed Response Question/ERQs in the space given below it.
Use black pen to write the responses. Do not use glue or pin on the paper.

Page 1 of 18




e How to fill the circle for MCQs.

Correct Way

Wrong Ways
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SECTION A

TOTAL MARKS: 30

THIS SECTION CONSISTS OF 15 MULTIPLE CHOICE QUESTIONS. EACH
QUESTION CARRIES 2 MARK

1. Work done is always equal to:/ = U nln~dsa S,y [
(A sisa i Aduas (S5 )p=
O Displacement / 5& / 3la
O Acceleration/ gl [ 8
O Power/ il / il
Energy possessed/dlxi s (Ul 5i 3lad gl SU 5
2. Which one of the following is a derived quantity? / Jla o (58— (s did ~x 2
= G 2k
el Dhe Ji= duala 55 le i

Mass/<uwesS /[ sla

Time/<d, [<d,

®
O Density/<sis / S8
©

O Length/ e /468
3. A paratrooper after opening of his parachute experiences./

?L_‘au_k\uuw\:\scm\jcﬁﬂxﬂcﬁﬁ%@\jﬁﬁﬁ%dﬂ\/
Qjmbwwhcﬁﬁéﬂﬁﬁy\ﬂ JA"'G-‘:‘.)"J""‘\J:"’@/

() Retardation/Sxlewy/ ey
(5) Acceleration/g ) ! /s 5
O Equilibrium/c)l s /o)) 5

Speed / L y/ xuu)

4. If the radius of a circular arc is double, the centripetal force acting on the body
moving on it will also be/ y aus s a5 ol 5 o SUS 0 ulay 1S 2 s R

S5 e s iy S 1y SIS
. - . . g L < eoad
svsa la (5 oama 3) S e s OV A3 o s b s (5 == ade=a
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O Doubled/\E s /iy
O Four times/\S s /%5
O One forth/Pleise K [ pan (55
One Half/ 22 /3
5. A 25 N force acts along the x-axis. Its y-component is:/

S8 A LSy gebans sasae (Sl il 5 e K)ol (B 81 (S 25N/
Touign e ) S s asae s OV 48 2y o8 (3 mhan B &) 55 e (e 25N
@

O 2.5N

6. If two forces of 3N and 4N are acting on a body at 900 with each other, the
magnitude of resultant force will be/:

G0 S8 o S 90 @l S o s SO s Sl i 52 (S AN ) BNLAY
$S50 LS il 5 i i s
gt o> O Al s e p S5 R0 90 US4 04 Ne 3N (b pun = (a3

fous la C@3ud Juala

O 1N
O 5N
O 7N
O 12N

7. The only Scalar quantity is:/¢, = = O5S Spa —w 0xe O DlSe e [ gle golae (s
[iodl 55 e e
O Displacement/ 5% /5t
O Acceleration /g s/
O Speed/ S/

O Velocity/ Y s / ki ,
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8. This kg-m/s2 can also be expressed as/: — Ul LS _—w w8 UL/ [Skg-m/s? /
$ xS s gl &S kg-m/s?

O Joule/ Js> /d s>

O Newton/csss/ o5 s

O Watt/&l 5/ &

O Newton sec/3iSus (55 [aismm (i 538

9. Power is defined as/: /70 oo oo 0000 | s Galiay (S Cdla;

Rate of doing work/.z »& S S8 S [ z 4 (o o= o=
Rate of change of Position / 7 »& S b (S ale/ 7 b o s o plaa
Rate of change of Velocity / 75 S b as )8 /708 o Ghad o

Rate of change of Momentum/ & (S bt (S sl gof 7 38 o bt s alisse

10. The Unit of light intensity is/s = LS S S i) [ S AT L Cigr ga Cadi A Ay,
O N/m?

O Volt/&d 5 /& g

O Candela/>u3i8/ S

O Joule/dss /s>

11. If the velocity of a moving body decreases by equal amounts in equal intervals of time,

however small they may be the acceleration of a body is said to have/.

S Smmal o) G aS e s sbae e 055 s sbue S iy U (S ans S atie R

G o ) o2 A8 u‘5 J\JMLSJ\-W‘EU”J LSJL“"‘@‘—‘SJ J\-‘BJ@H’AGJ\J PR
s“\ 6)“@?“‘34-‘}-’@65‘-“@—‘;&5““
OUniform and negative / e sl g [ e aliiin

O“ Uniform and positive / <ie sl Gl / e g oa g

O Mutually perpendicular ~ / @25 otls /  @asee BX
O‘ Zero / swa | s
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12. A body is said to be in equilibrium if it is moving with:
e RS a gl S sy i Gyl e Alla (S )l S aua SO

(oA s CS e ol Al i Al s s o ()15 (S s =

O Uniform Velocity/ Y s Jbss / Sl (sheas=a
O Uniform Acceleration / 1wl JLasa [ 38 s 5ens=a
O Variable Velocity / sy s paief L ) Calida

O Variable Acceleration / gl yiie [ (s35 cilida

13. If a stone is tied to the end of a string and whirled in a circle, the tension in the string

provides / s s Ss el 55 s WlegS (e o s Sl s o e AT S Slas € S ey S R
B lwls

€52 oy b lo 3l o O 45 a5 slagSa de=di a s Gl a AT o S8 el =2 S
Centripetal force/ s Ji st [ &5 Jiy s e
Centrifugal force/ st Jasd s A [ S8 Jad (5 st

O Pressure / 3k» /¢

O Reaction /Jac 2, [ Jac 3

14. If the uniform speed of a body moving in a circle is doubled, its centripetal force
becomes/ S ol ¢ 55 e s G50 Sl Lo (S s i S CSa (ae o il (S R
P BT @ Sy i
GBI m e U4 2 Bl D) a i (o e DN G ja o (5 Sl b Ak

Twice/. S 52 [ Av

Three times/.\8 o8/ Ad
Four Times/\8 s / Sisa
Eight Tines/\8 &1 / 55
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15. Heat is a Form of/ = ~ Jss Syl (S @ a

Energy/ Ul s [ AU s
Power/.céll / il
Force/ wé/ <4

O Momentum / i se / altise s

SECTION B ( SHORT ANSWER QUESTIONS) (18 MARKS)

Attempt any six questions from this section. Each question carries three marks

02. Describe Newton’s third law of motion with two examples.
O 50y e s Gianifin S Ol il S o llie g0 S 88 o pud S a S fen
3= Ol gl Ol 0 058

OR

Derive a relation to find out the mass of earth with the help of Newton’s law of
gravity

5 O Qahae (o JB Gl (58 a Gian [onS a sl laT 1S CuaS (S (e ) s 220 (S 0518 JB (RIS S (i

5= o (3lad == S5 pslaa sla
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03. Define /o8 gl i ni [ = Calias
i) Torque/as /1 @) ii) Centre of gravity/ $,. & J& (238/ 5 a s J8 i )
One Newton/ iss Sl [ (st ==a
OR

Define resolution of vector and write down two formulae of rectangular
COMPONENtS. /0 S Ol mIS 53 (o2 58 S i uaS LS ) ) (oS by (S s 5505

S5 sl e yoa Jibiiae g g iy A didad ey
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Q4 Describe the three states of equilibrium. /0 S Ol S Osills 08 (S O) S/ G o> 058
H=

OR

Describe three methods of reducing friction./ seSd &b o o S8 S S K
s O Wl o s GRS G

Q5 Define centripetal acceleration and how many factors at which it depends
[$ 0 pania yydalse S a5l S Cialiay (S g pul iy s st
Tl Jy J omaie guis= Bl ¢ s Calias oo 508 )= = < centripetal acceleration>
OR

A force of 5 N is applied on an object of mass 0.1 Kg for 5 seconds. Find the work done?

aslra S5 ol KK 0, 1S (S Gl S = & ) S IS iy il S (5535 5 anea S
WS

S alas asm e ) 43 K il prismanl e & BN (& aa 0.1kg =
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Q6 A lift carrying 120 kg weight of bricks travels to the top of a building 10 m high. Calculate the
energy used.

o) = e o Gled (S @ lee o Gl S ngl S slee S 00y S sl o RS 120 &l S
Tl g i S04 ol (S a2 (8 S Dol (350 e 10 G5 s> Osom s pl 8 sle= 120 2adl

OR

A car moving with a uniform acceleration attains a speed of 36 km/hr in 2 minutes; find the
acceleration of the car. &S (3 i 5lS 36 e Sie 2 Ly (S ea = () Ja dle Spl il (LS IS SO
'U:‘)S?Jl’*“&‘)"“‘lsjks'c‘
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Q: 7 . Define work give its formula and unit

s Qise Soa i s ) (Al s a= [ S o SIS) sl Y se 8 e gl 2 S Cialiay (S S5
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SECTION C (DESCRIPTIVE-ANSWER QUESTIONS) (12 MARKYS)

Attempt any 2 questions from this section in the space provided below. Each question

carries 6 marks

1 2
] ] S=Vt + - at
Q8. Derive the equation / 2 GBS da Ol she/ s== Ja Ol ghae

OR

Define potential energy and give two point of difference between kinetic energy and potential
energy

S gl B8 50 ey S G5 (S sl U5 a8 Caliay (S S a5
sy
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Q9. Define Thermal expansion. Also prove f=3a

B=3a S i) S Cialiay (S S Ja s

B=30 s Culic e Caliay oa 8 S A
OR

State Pascal’s Law. Also describe the construction and working of hydraulic lift
with the help of diagram.

o2 S A8 Sl sl end (S Gl S5 5300 s ade (S SIA i (S by (S o5l S S
RS Calag
Gl A O a2 ¢ mend o Qb == )ails e dae (2 pgeal ¢ s == Caliag o 58 (o
= Je=aly
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Please yuse {is page
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